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1: hrotd_eid_0
 / ndf 2χ  284.1 / 45

 0πN  114.5±  8557 

p0        4.7± 143.1 

p1        0.412± 5.581 

p2        0.01493± 0.09093 

p3        0.001006±0.004949 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg
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2: hrotd_eid_1
 / ndf 2χ  458.2 / 45

 0πN  121.3±  9552 

p0        5.1± 168.3 

p1        0.444± 4.959 

p2        0.01576± 0.06616 

p3        0.001068±0.003978 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg
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3: hrotd_eid_2
 / ndf 2χ  316.1 / 45

 0πN  122.4±  9835 

p0        5.1± 162.9 

p1        0.442± 5.499 

p2        0.01578± 0.06815 

p3        0.001063±0.004962 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

3: hrotd_eid_2
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4: hrotd_eid_3
 / ndf 2χ  403.8 / 45

 0πN  120.8±  9765 

p0        4.9± 145.5 

p1        0.44±  6.63 

p2        0.01534± 0.07802 

p3        0.001052±0.007544 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

4: hrotd_eid_3
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5: hrotd_eid_4
 / ndf 2χ  431.7 / 45

 0πN  1.240e+02± 1.045e+04 

p0        5.0± 155.7 

p1        0.454± 6.146 

p2        0.0157± 0.0783 

p3        0.001090±0.006397 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

5: hrotd_eid_4
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6: hrotd_eid_5
 / ndf 2χ  600.5 / 45

 0πN  1.263e+02± 1.073e+04 

p0        5.1± 159.2 

p1        0.466± 6.747 

p2        0.01581± 0.05928 

p3        0.001113±0.008677 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

6: hrotd_eid_5
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7: hrotd_eid_6
 / ndf 2χ  625.7 / 45

 0πN  1.312e+02± 1.176e+04 

p0        5.2± 167.4 

p1        0.479± 5.114 

p2        0.01624± 0.04232 

p3        0.001144±0.004932 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

7: hrotd_eid_6
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8: hrotd_eid_7
 / ndf 2χ  837.6 / 45

 0πN  1.249e+02± 1.059e+04 

p0        4.9± 153.5 

p1        0.455± 5.207 

p2        0.01553± 0.02737 

p3        0.001084±0.005897 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

8: hrotd_eid_7
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9: hrotd_eid_8
 / ndf 2χ  706.4 / 45

 0πN  1.249e+02± 1.067e+04 

p0        4.9± 157.7 

p1        0.441± 4.578 

p2        0.01555±0.01945 − 

p3        0.001059±0.004474 − 

data

total fit

peak fit

bkg fit
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#acc. bkg

#acc2 bkg
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10: hrotd_eid_9
 / ndf 2χ  407.5 / 45

 0πN  118.2±  9734 

p0        4.6± 132.8 

p1        0.414± 2.996 

p2        0.01471±0.01346 − 

p3        0.001006±0.002337 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

10: hrotd_eid_9
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11: hrotd_eid_10
 / ndf 2χ  796.1 / 45

 0πN  1.234e+02± 1.059e+04 

p0        4.8± 132.2 

p1        0.438± 3.122 

p2        0.01555± 0.02491 

p3        0.001074±0.002187 − 

data

total fit

peak fit

bkg fit
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#acc2 bkg

11: hrotd_eid_10
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12: hrotd_eid_11
 / ndf 2χ  588.5 / 45

 0πN  109.4±  8332 

p0        4.3± 102.3 

p1        0.388± 1.739 

p2        0.01374± 0.01131 

p3        0.000957±0.001143 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg
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13: hrotd_eid_12
 / ndf 2χ  226.1 / 45

 0πN  80.1±  4571 

p0        2.98± 51.36 

p1        0.2755± 0.4003 

p2        0.009442±0.003033 − 

p3        0.000661± 0.000341 

data

total fit

peak fit

bkg fit
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14: hrotd_eid_13
 / ndf 2χ  381.1 / 45

 0πN  118.0±  9923 

p0        4.4± 103.5 

p1        0.409± 1.131 

p2        0.01397± 0.03871 

p3        0.0009793±0.0005155 − 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg
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15: hrotd_eid_14
 / ndf 2χ    397 / 45

 0πN  1.206e+02± 1.047e+04 

p0        4.6± 107.8 

p1        0.4166± 0.9541 

p2        0.01456± 0.03326 

p3       03− 1.005e±05 − 9.475e

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

15: hrotd_eid_14
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16: hrotd_eid_15
 / ndf 2χ  374.2 / 45

 0πN  112.5±  9144 

p0        4.30± 88.59 

p1        0.3909±0.1412 − 

p2        0.01346± 0.03031 

p3        0.000935± 0.002056 

data

total fit

peak fit

bkg fit
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#acc2 bkg

16: hrotd_eid_15
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17: hrotd_eid_16
 / ndf 2χ  210.1 / 45

 0πN  1.190e+02± 1.038e+04 

p0        4.53± 84.41 

p1        0.4126± 0.4874 

p2        0.01444± 0.06224 

p3        0.0010095±0.0008415 − 

data

total fit

peak fit

bkg fit
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18: hrotd_eid_17
 / ndf 2χ  298.6 / 45

 0πN  101.1±  7454 

p0        3.82± 62.33 

p1        0.34883±0.08011 − 

p2        0.01206± 0.02592 

p3        0.000842± 0.001513 

data

total fit

peak fit

bkg fit

 bkgω
#acc. bkg

#acc2 bkg

18: hrotd_eid_17
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